%

v

@m/

@M

X|
=i

ASSEMBLY INSTRUCTION

SOFT,DRY CLOTH CHEMICAL HEAT KEEP DRY HANDLE WITH CARE DO NOT USE KNIFE MODEL : DTC 333'85V - ELLA COMMODE 2 LADEN! 2 D/P / CHEST
ld:J A B C D J K L2 L3 o |P Q R
< 12M 16MM+ | -20MM l J2 - m EADMMQ
; % .\\\\\<e ~\\\\\\\<® -\\\\\\\\\\\‘@ “‘\q” ’, % \» ® ® @/ %
O | pLastic | cB cB cB B ‘@ = HANDLE ~ HANDLE
X | DOWEL SCREW | SCREW | SCREW | SCREW SCREW | CSK CAP CSK CAP | SHELF ABS DRAWER HANDLE FZ 23187 SCREW SCREW HINGES %" . POWER
<C | M8x25 M3.5X12 | M3.5X16 | M4X20 Max25 M4x35 M6X40 M6X50 SUPPORT MINIFIX 5654 PIN (15MM) (128MM) - METAL M4X24MM  M4X40MM | (INSIDE) DRAWER SLIDE 14 CAP NAIL6/8 | PLASTICPIN | ALLEN KEY
T | 1X41 | 1X24 | 1X16 | 1X4 1X8 1X16 1X7 1X6 1X8 13 SETS 1X2 1X4 1X4 1X4 4 SETS 2 SETS 1X8 | 1X70 1X5 1X1

RIGHT VIEW

LEFT VIEW

RIGHT VIEW LEFT VIEW RIGHT VIEW

LEFT VIEW

RIGHT VIEW

\\Domain01\rnd\Al - PDF 2016\BUYER STANDARD\ON\ELLA\DTC 333 (P1-3).pdf

PAGE : 1/3


Administrator
Typewriter
\\Domain01\rnd\AI - PDF 2016\BUYER STANDARD\ON\ELLA\DTC 333 (P1-3).pdf


ASSEMBLY INSTRUCTION

STEP 10

STEP 15

STEP 9

STEP 14

(e

&
Gy

— MODEL : DTC 333-S5V - ELLA COMMODE 2 LADEN, 2 D/P / CHEST

I RE DO NOT USE KNIFI

M@M

KEEP DRY

STEP 8

BOTTOM VIEW

STEP 13

X

— M e
2N

CHEMICAL

STEP 7

FRONT VIEW

A\ <&

STEP 6

BACK VIEW

STEP 12

PAGE : 2/3




@%m

e M

@M

X

ASSEMBLY INSTRUCTION

[

BACK VIEW

///?\\A é;;it> ‘“4422\* <:ﬁ$ﬁﬁ;@
SOFT,DRY CLOTH CHEMICAL HEAT KEEP DRY HANDLE WITH CARE DO NOT USE KNIFE MODEL . DTC 333'85V - ELLA COMMODE 2 LADEN, 2 D/P / CHEST
STEP 16 STEP 17 STEP 18
i
F————
Ee
\
\
\
\
L
[ ]
N >
— T
— -
/X
g

STEP 19

STEP 20

PAGE : 3/3




	Ella DTC333 (P1-3)
	Ella DTC333 (P2-3)
	ELLA DTC333 (P3-3)



